
Roll No. ........................... Total Printed Pages - 16

F-109

M.Com. (Second Semester)
EXAMINATION, May-June, 2022

Paper Ninth
ADVANCED STATISTICS

Time : Three Hours] [Maximum Marks:80

   

Note : Attempt all sections as directed.



(Section-A)

 

(Objective/Multiple Choice Questoins)

(1 mark each)

  

Note : Attempt all questions.

  

Choose the correct answer.

P.T.O.
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1.         
 C'  

(A) 

(B) 

(C) 

(D) 

Value of coefficient of optimism 'C' for down right pessi-
mistic person according to Harwitz Criterion is:

(A) Zero

(B) One

(C) Two

(D) Infinite

2.  

(A) 

(B)  

(C) (A)(B)

(D)  

Decision tree is started with a

(A) Rectangle

(B) Square

(C) Both (A) and (B)

(D) None of these
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3.           
  

(A) 

(B)  

(C) (A)(B)

(D) 

A circle is drawn at the end of each branch of the deci-
sion tree, which is called

(A) Decision node

(B) Event or consequence node

(C) Both (A) and (B)

(D) None of these

4.         

(A) 

(B) 

(C) 

(D) 

The probability of every event in Laplace's criterion

(A) Unequal

(B) Equal

(C) Zero

(D) None of these
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5. 

(A)    

(B)    

(C)  

(D) 

A Parameter is

(A) Statistical measure of population

(B) Statistical measure of sample

(C) Cumulative frequency distribution

(D) All of the above

6. %  

(A) 

(B) 

(C) 

(D) 

Critical value at 5% level of significance

(A) 

(B) 

(C) 

(D) 
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7. 

(A)  

(B)   

(C)    

(D) 

What is sample Statistic

(A) Sampling distribution of the mean

(B) Standard normal distribution

(C) Statistical measure of sample

(D) None of these

8. 
  

(A) 

(B)   

(C)  t  

(D) (B)  (C) 

Method used to final the effect of two actions of an event
on similar terms

(A) Variance ratio test

(B) 2x  test

(C) Paired t  test

(D) Both (B) and (C)

P.T.O.
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9. n      =

(A) n

(B) n

(C) n

(D) 5n

The total number of classes in the case of n attributes.

(A) n

(B) n

(C) n

(D) 5n

10.AB<
( ) ( )A B
N A    B 

(A) 

(B) 

(C) 

(D) 

If AB<
( ) ( )A B
N then the association between two at-

tributes A and B is

(A) Negative

(B) Zero

(C) Positive

(D) Symmetrical
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11. 
  

(A)   

(B) 

(C)   

(D)  

Method used to study the effect of one attribute on an-
other attribute

(A) Probability and expectation method

(B) Percentage method

(C) Coefficient of association

(D) All of the above

12.A B 

(A) 

(B) +1

(C) 

(D) 

If two attributes A and B are independent then the coeffi-
cient of association is

(A) 

(B) +1

(C) 

(D) 

P.T.O.
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13.    

        
       
    

(A) 

(B)   

(C)  

(D) 

"Statistical quality control should be viewed as a kit of
tools which may influence decisions related to the func-
tions of specifications, production or inspection."
(A) Ya-Lun-chau
(B) Eugene L. Grant
(C) A.C.Rosander
(D) J. Neyman

14.       
 

(A)  

(B)   

(C)   

(D) 

Who was developed the concept of statistical quality con-
trol?
(A) Eli Whitney
(B) Simpson and Kafka
(C) Walter A. Shewhart
(D) Henry Grant
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15.        

(A)     

(B) 

(C)    

(D)   

Acceptance sampling methodology was first developed
by

(A) H.F. Dodge and H.G. Roming

(B) Motorola

(C) U.S.War department

(D) W.E.Deming

16.       

(A) 

(B) 

(C) 

(D) 

Which distribution is used for C-chart

(A) Normal

(B) Binomial

(C) Poisson

(D) Bernoulli

P.T.O.
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17. x
or

(A)  

(B)  

(C)   

(D)    

Method used in interpolation and Extrapolation when there
is very little difference between the values of the indepen-
dent terms(x) and the number of terms or

(A) Direct binomial expansion method

(B) Newton's method of advancing differences

(C) Lagrange's method

(D) Method of fitting a parabolic curve

18.     

(A)  

(B)  

(C)  

(D)  

Which one of the following is not a method of extrapola-
tion?

(A) Lagrange method

(B) Binomial expansion method

(C) Bowley method

(D) None of the above
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19.        

(A) 
(B) 
(C) 
(D)  
The first defference in each column of the difference table
under Newton's method is called
(A) Rank difference
(B) Finite difference
(C) Leading difference
(D) All of the above

20.    3
0   

3.60 3.65 3.70 3.75
36.598 38.475 40.447 42.521

x
y

(A) 
(B) 
(C) 
(D) 

For the given distributed data final the value 3
0  is ?

3.60 3.65 3.70 3.75
36.598 38.475 40.447 42.521

x
y

(A) 
(B) 
(C) 
(D) 

P.T.O.
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

Section-B

  

(Very Short Answer Type Questions)

(2 marks each)

          
  

Note - Attempt all  questions. Each question carries 2
marks. Give answer in two or three sentences.

1. 

What is decision node?

2.   

What is meant by cost of uncertainty?

3.     

Explain parameter and statistics.

4. 

What is sampling distribution?

5.  

What is disassociation?

6.     

Explain ultimate class-frequencies
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7. 

What is sampling inspection method?

8.  

What is mean control chart?



(Section-C)

  

(Short Answer Type Questions)

(3 marks each)

      
 

Note : Attempt any eight questions. Each question car-
ries 3 marks. Give answer in about 75 words.

1.   

How is the decision tree constructed?

2.      

Consider the following payoff table:

 Events)
(Alternative)

A1 A2 A3

Q1 25 16 12

Q2 15 20 12

Q3 -10 00 08

P.T.O.
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   'C' 
   

Using Hurwitz coefficient of optimism as 0.25, determine
which alternative is the best.

3.      

Explain procedure of test of significance.

4.        

Describe the types of estimation.

5. %
%   % 
% 
   

In a very long fought battle in % at least of the soldiers
lost an eye, % at least of the soldiers lost an ear,%
at least of soldiers lost a leg and % at least of soldiers
lost an arm. What percentage at least  lost all the four?

6.   

Distinguish between association of attributes and corre-
lation.

7.             

  

A manufacturer  finds that on an average 2 in 100 of  the
items produced by him is defective. Draw a control chart
for number of defective items for sample of size 100.
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8. C-      

Explain the method of preparation of C- chart.

9.     

Differentiate between interpolation and extrapolation.

     

Explain clearly the graphic method of interpolation.



(Section-D)

  

(Long Answer Type Questions)

marks each)

          

 

1. 



What is the payoff table? Explain payoff table with an ex-
ample and convert it into an opportunity loss table.

 



P.T.O.
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A sample of 23 pairs of values gives a correlation coeffi-
cient 0.52 and another of 28 pairs has a correlation coef-
ficient 0.71. Do the sample correlation differ significantly.

3.         
 

What is statistical quality control ? Explain its main tech-
niques.

4. 
 

      

       

From the following data, estimate the number of per-
sons earning between Rs. 30 and Rs.

Income     

No. of person      


